	[image: image1.wmf]                           PARTS  LIST                                                   Page 1 of 1

	
Bolt Practice Boards

Catalog Number 1-08050-00
APH Number
Item Description
Quantity


   Board #1

1

Hex-Head Bolt, 3/8"-16 x 1-1/2"

4

Hex Nut, 3/8"-16

4



Board #2

1

Hex-Head Bolt, 1/2"-13 x 1-1/2"

4

Hex Nut, 1/2"-13

4



Board #3

1

Hex-Head Bolt, 3/4"-10 x 1-1/2"

4

Hex Nut, 3/4"-10

4



Board #4

1

Hex-Head Bolt, 3/4"-10 x 1-1/2"

1

Hex Nut, 3/4"-10

1

Hex-Head Bolt, 5/8"-11 x 1-1/2"

1

Hex Nut, 5/8"-11

1

Hex-Head Bolt, 1/2"-13 x 1-1/2"

1

Hex Nut, 1/2"-13

1

Hex-Head Bolt, 3/8"-16 x 1-1/2"

1

Hex Nut, 3/8"-16

1

APH Number items may be purchased separately

	American Printing House for the Blind  P.O. BOX 6085 Louisville, Ky 40206-0085
Op.Eng.050518


